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������� �������
� � ���� �!"# !"$���"%" &!���'�� �"���$��( �)�!*����!� "��"�)� ���"
� ��"+)�*���� ��*" "+�$�� ,"� !"$���
 &!���'� � &*"# �*�*(� �"�� ��*�� -�)".�����
 "��$( ��*" "+�$� / ��� !"$���
� ��)
 �"�������
�  "�*" � � "+.� �$-��� ���*��*��� �*"
"+� !"$���
� ��)
  "%-* �)�.�*(�� � %")��"�*�$(�"# �$"�!"�*� �������� " "*  "�*�� *�!'�
)��� "*)�� ���*�
# �$-��# 0 "��� �� !"$���
1 ��) ��!)��$��� ��)�����!-$�)�" !  "�*-�

2��� �� ��)�
1 )�+"*� %�� ���*� �*����!� )��� "*)��
 ������ �������
� � ���� �!"#
!"$���"%" &!���'� �)����$�'�* 3"!�)- 456� � ��# '� 3"!�) �7") -$�)"��$ %��"*��- +"!"�"%"
-�"�� !"$���� � )�+"*� 4�6 �"$-���" -)������� ���'���� !"$���"%" &!���'� � )��� "*)��

�"�)"�
 -�*"#���"�*� ���*� 
 �)� *") "'����� � )�+"*� 4�6 �)"��*�%)�)"����� � ���$��"����
������ " ���'���� &!���'� � "��"# 7�!��)"����"# !"$���"# ��)"#� )�8��� ������ "+ -�$"���1
�"���!�"����� ���"�� � �"������� ���*� 
 �)� )��!" *") "'����� � )�+"*� 4�6 �"$-���

-)������� ���'���� !"$���"%" &!���'� � �$-��� ��-1 ��"+"��
1 !"$���
1 ��)�

� ���*"�.�� �)� � )�8��"  �"'��*�" ������ *�! �$� ����� �������
1 � ���� �!"# !"/
$���"%" &!���'�� �" ��� "�� )��� �*)���9* $�8( �"������� ���*� 
 � ��!"*")
1 ���*�
1
�$-���1 � �� �)"�"��*(�� ���$��"����� ���1 �"� "'�
1 *)��!*")�# ���'���� !"$���"%" &!�/
��'�� ,"&*" - �)���*��$��*�� ��*�)���
 �"$-��*( -)������� ���'���� �� �)"���� �1 ���/
$��� "�)���$�*( *�����
� *)��!*")�� ���'�����

� �� ��������� ���������

�$� ���$��"����� +
$� �
+)��� �$��-9.��  "��$( !"$���"%" &!���'� / ��� !"$���
� ��/
)
� �)�!)��$���
� ! )���
 !"�:�  "�*�� !"*")
�  "%-* �)�.�*(�� �"!)-% ��)*�!�$(�"#
"��� �)"1"��.�# ��)�� *"�!- !)��$����� �"$���
� ��)
 ��  �*)���
� � "����!"�
�� :��*)
 ���  "�*� �"������* � �%" %�" �*)����!� :��*)" � ;��*� � ���'�*�� � %")��"�*�$(�"# �$"�/
!"�*�� �"$��� �)� !������ �" �$"�!"�*� �� �)"�!�$(�
��9*� ;1� �*���" ������  "��$( �)��/
�*��$��� �� <3��� �=�

• OA 0 )���-� ��!*") :��*)�  ��� &!���'��

• BC 0  "�*� |BC| = 2r �

• DE � GF 0 !"$���
� ��)
� |DE| = |GF | = 2l �

• D � E � G � F 0  ��*� !)��$���� !"$�� ! "�� !"$���
1 ��)�

• ψ 0 -%"$ �"�")"*�  "�*� "*�"��*�$(�" "�� Ox ���"���'�"# ���*� 
�

• θ1 � θ2 0 -%$
 �"�")"*� !"$���
1 ��) "*�"��*�$(�"  "�*��

• h 0 )���-� !"$����



>> ;� ?� @-:��!"

�������� �		
� �
�� �

���� ��

�$� "������� �"$"'���� !"$���"%" &!���'� � !�'�
#  " ��* �)� ��� +
$ �
+)�� �$�/
�-9.�# ��+") ��)� ���
1 < x � y � ψ � θ1 � θ2 � φ1 � φ2 � φ3 � φ4 =�

����*����!�� &��)%�� !"$���"%" &!���'� � �
+)���
1 ��)� ���
1 � ��* ���A

T =
1
2
M(ẋ+ ẏ) +

1
2
I1

4∑
i=1

φ̇i +
1
2
I2(ψ̇ + θ̇1)2 +

1
2
I2(ψ̇ + θ̇2)2 +

1
2
I3ψ̇

2 , <���=

%�� I1, I2, I3 0 �)�������
�  " ��*
 ���):�� )��$���
1 ���*�# &!���'�� M 0 �"$���  ����
!"$���"%" &!���'��

,"�!"$(!- ���*� � ���'�*�� �" %")��"�*�$(�"# �$"�!"�*�� *" �� �"*��:��$(��� &��)%��
��  ����*�� �  "'�* +
*( �
+)��� )���"# �-$9� B"%�� $�%)��'��� ���*� 
 +-��* )���� ��
!���*����!"# &��)%���

�)������� � �����# �$� ��8�# ���*� 
 ��$�9*�� -�$"��� �� �)"�!�$(�
����� !"$�� �)�
!������ �" �$"�!"�*�� *" ��*( �!")"�*( *"�!� !"�*�!*� )���� �-$9�

�̇ri = 0 � %�� i = 1..4

,"$-��� ��*
)� ��!*")�
1 �$� ������:�*( �!�$�)�
1 -)������#� "���
��9.�1 ��%"$"/
�" �-9 ����(� ,"�!"$(!- ���*� � ���'�*�� � %")��"�*�$(�"# �$"�!"�*�� *" -)������� �$�
Z !" �"���*
 �!")"�*� !�'�"%" !"$��� +-��* *)����$(�
 0 Vz = 0 � �
��8� "�*��8����
�"�� ( -)������# � ���" ����A

ẋ+ rψ̇ cos(ψ) + l(ψ̇ + θ̇1) cos(ψ + θ1) + hφ̇1 cos(ψ + θ1) = 0,
ẏ + rψ̇ sin(ψ) + l(ψ̇ + θ̇1) sin(ψ + θ1) + hφ̇1 sin(ψ + θ1) = 0,
ẋ+ rψ̇ cos(ψ) − l(ψ̇ + θ̇1) cos(ψ + θ1) + hφ̇2 cos(ψ + θ1) = 0,
ẏ + rψ̇ sin(ψ) − l(ψ̇ + θ̇1) sin(ψ + θ1) + hφ̇2 sin(ψ + θ1) = 0,
ẋ− rψ̇ cos(ψ) + l(ψ̇ + θ̇2) cos(ψ + θ2) + hφ̇3 cos(ψ + θ2) = 0,
ẏ − rψ̇ sin(ψ) + l(ψ̇ + θ̇2) sin(ψ + θ2) + hφ̇3 sin(ψ + θ2) = 0,
ẋ− rψ̇ cos(ψ) − l(ψ̇ + θ̇2) cos(ψ + θ2) + hφ̇4 cos(ψ + θ2) = 0,
ẏ − rψ̇ sin(ψ) − l(ψ̇ + θ̇2) sin(ψ + θ2) + hφ̇4 sin(ψ + θ2) = 0.

<���=

�� &*�1 �"�( � -)������# *"$(!" 8��*( ��$�9*�� $���#�" �������� 
 �� ����� �� ��-
��)� ���
1

β̇1 =
h

2l
(φ̇2 + φ̇1), β̇2 =

h

2l
(φ̇4 + φ̇3), <��5=
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 "'�" ������*( -)������� �����# � �$��-9.� ����A

ẋ+ rψ̇ cos(ψ) + lβ̇1 cos(ψ + θ1) = 0,
ẏ + rψ̇ sin(ψ) + lβ̇1 sin(ψ + θ1) = 0,
ẋ− rψ̇ cos(ψ) + lβ̇2 cos(ψ + θ2) = 0,
ẏ − rψ̇ sin(ψ) + lβ̇2 sin(ψ + θ2) = 0,
(ψ̇ + θ̇1) = h

2l (φ̇2 − φ̇1),
(ψ̇ + θ̇2) = h

2l (φ̇4 − φ̇3),

<��C=

*�! !�! ��� �"�$����1 ����� <��C= ��$�9*�� ��*�%)�)-� 
 �� *" ���"$(�-� �1 � �� ��- <��5=�
 "'�" ��!$9��*( �� $�%)��'���� ��)� ���
� (φ̇1, φ̇2, φ̇3, φ̇4) � �"$-�� A

L =
1
2
M(ẋ+ ẏ) +

1
2
Ĩ1(β̇1 + β̇2) +

1
2
Ĩ2(ψ̇ + θ̇1)2 +

1
2
Ĩ2(ψ̇ + θ̇2)2 +

1
2
I3ψ̇

2, <���=

%�� Ĩ1 = I1l
2/h2 � Ĩ2 = I1l

2/h2 + I2 �
,"�!"$(!-  
 -'� �"��"$(�"��$��( ��- � �"�$���� � -)������� � �� ���*� 
 <��C=� *"

�1 ���" ��!$9��*( �� ��$(��#8�%" )��� "*)����� � "�*��8�1�� ��*
)�1 -)�������1 �����
�
)��� (ẋ, ẏ, β̇1, β̇2) ��)�� ψ̇ � �"$-�� A

ẋ = cos(ψ+θ1) sin(θ2)+cos(ψ+θ2) sin(θ1)
sin(θ1−θ2) rψ̇,

ẏ = sin(ψ+θ1) sin(θ2)+sin(ψ+θ2) sin(θ1)
sin(θ1−θ2) rψ̇,

β̇1 = 2 sin(θ2)
l sin(θ1−θ2)rψ̇,

β̇2 = 2 sin(θ1)
l sin(θ1−θ2)rψ̇.

<��D=

�$� �"$-����� -)������# ���'���� � ��)�
1 ��*�%)�$"� ���*� 
 �"��"$(�-� ��  �*"�" 
��"�)���$���
1  �"'�*�$�# @�%)��'��

d

dt

(
∂L

∂q̇i

)
− ∂L

∂qi
=

∑
j

λj
∂fj
∂q̇i

<���=

%�� q̇i 0"+"+.����� �!")"�*(� λj 0 ��"�)���$���
#  �"'�*�$(� fj 0 -)������� ������ � ��8� 
�$-���

�̇q = (ẋ, ẏ, β̇1, β̇2, ψ̇, θ̇1, θ̇2) �

�"��"$(�"���8��( <���=� �"$-�� �$��-9.-9 ���*� - -)������#A

Mẍ = λ1, Mẍ = λ2, Ĩ2β̈1 = λ3, Ĩ2β̈2 = λ4,

I3ψ̈ = λ1Cx + λ2Cy + λ3B1 + λ4B2,

ψ̈ + θ̈1 = 0, ψ̈ + θ̈2 = 0,
<��>=

%�� Cx � Cy � B1 � B2 E 7-�!:�� "* < θ1 � θ2 � ψ =� �*"�.�� ��)�� ψ̇ � -)�������1 ����� <��D=�
�� ��-1 �"�$����1 -)������# ���*� 
 <��>= �$��-�*� �*" -%$"�
� �!")"�*� �)�.���� !"/

$���
1 ��) � ���"���'�"# ���*� � "*���*� �"1)���9*��A

(ψ̇ + θ̇1) = const = ω1,

(ψ̇ + θ̇2) = const = ω2.
<��
=

,)"��77�)��:�)"��� -)������� ����� <��D= � )��)�8�� �"$-���8���� -)������� �"� ��*/
�" � <��>= "*�"��*�$(�"  �"'�*�$�# λ � �"$-�� -)������� ���'���� �$� ψ � �$��-9.� 
����A
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Gψ̈ +
1
2
Ġψ̇ = 0, <���	=

%��

G =
sin2(θ1) + sin2(θ2) +A sin2(θ1 − θ2)

sin2(θ1 − θ2)
, A =

(
I3/r

2 −M

M + 4I1/h2

)
. <����=

�)������� <���	= �"�-�!��* ��)�
# ��*�%)�$ ���'����

E = Gψ̇2, <����=

!"*")
# � *"��"�*(9 �" !"��*��*
 �"������* � !���*����!"# &��)%��# &!���'�A

T = E +
1
2
Ĩ2(ω2

1 + ω2
2). <���5=

�*�! �)��������� ���*� � -)������# � ��*�%)�$"� ���'���� � ��* ���

ψ̈ = 1
2
Ġ
G ψ̇, θ̈1 = ψ̈, θ̈2 = ψ̈. <���C=

E = sin2(θ1)+sin2(θ2)+A sin2(θ1−θ2)
sin2(θ1−θ2) ψ̇2,

ψ̇ + θ̇1 = ω1, ψ̇ + θ̇2 = ω2.
<����=

�$� �
���$���� "�*�$(�
1 ��)� ���
1 ���*� 
  "'�" �"��"$(�"��*(�� -�$"��� � �����
� !���)�*-)� ��

�  � �!"���#$ %&�'�� � !��!$ (�)�&���!����!$ &!"���!$ '��!$�

� &*" �$-��� θ2 = π/2 � θ̇2 = 0 � -)������� ���'���� !"$���"%" &!���'� ��"��*�� !
"��" - -)������9 �*")"%" �")��!�

θ̈1 =
sin(θ1)θ̇1(ω1 − θ̇1)

cos(θ1)(1 +A cos2(θ1))
, <���=

� ��*�%)�$ &��)%�� �)� �* ���

E =
1 + Ã cos2(θ1)

cos(θ1)2
(ω1 − θ̇1)2, Ã = 1 +A. <���=

�
)���� θ̇1 �� <���=� �"$-�� -)������� $���# -)"��� &��)%��� ��$�9.�1�� 7��"�
 �
*)��!*")�� � ���*� 


θ̇1 = ω1 ± cos(θ1)

√
E√

1 + Ã cos2(θ1)
, <��5=

%�� ���! "�)���$��*�� ��1"�� �� ����$(�
1 -�$"��#�
F��"�
# �")*)�* ���*� 
 � !"")����*�1 < θ1 � θ̇1 = �)���*��$�� �� )��� ���
,�)�������� 7��"�
1 *)��!*")�# �� )��� �� ������" � ��"��"�����"�*(9 ��*�%)�$� &��)%���

�$� -�*)������ ����"# ��"��"�����"�*� ��)�#�� ! ��)� ���
 < θ1 � V‖ =� %��

V‖ =
ω1 − θ̇1
cos(θ1)

, <��C=
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���� �� ��������� 	�
�
�� 
�
���� � ���
������� θ1 � θ̇1 ��������� 	�
�
�� 
�
���� � ���
������� θ1 � V‖

� � ��* � 
�$ �)"�!:�� �!")"�*� &!���'� �� �)� -9 ��)�$$�$(�-9  "�*-� F��"�
# �")*)�*
���*� 
 � !"")����*�1 < θ1 � V‖ = �)���*��$�� �� )��� �+�

�� )��� �� �$��-�*� �*" �-.��*�-�* ���%" *)� )��$���
1 *��� 7��"�
1 *)��!*")�#A
�� ,)� �� θ̇ = ω1 � � &*" �$-���A

θ1 = ω1t, ψ̇ = 0 ⇒ ψ = const, E = 0 ⇒ T = 1
2 Ĩ2ω

2
1. <���=

B�!� "+)��" :��*)  ��� ���*� 
  "'�* ���%�*(�� *"$(!" �" �)� "#� �)"1"��.�# ��)��
"�(  "�*�� $�+" '� �"!"�*(���

�� F��"�
� *)��!*")�� �� ��)���!�9.�� "�( Oθ � � &*" �$-��� 7��"��� *)��!*")�� ��$�/
�*�� ��)�"�����!"#� � :��*)  ��� ���*� 
 ���'�*�� �" �$"'�"# *)��!*")�� �"�*�����"
�� �*�� !"$(:" �� �$"�!"�*�� 3��-$(*�*
 ���$���"%" )����*� �)������
 �� )��� 5�

5� F��"�
� *)��!*")�� ��)���!�9.�� "�( Oθ � � &*" �$-��� �� 7��"�"# *)��!*")�� <�
*"�!� �� ��)�������� � "�(9 �+�:���= $�'�* ��� ���"���'�
� *"�!�� 2��� �� ��1 +-��*
�)�*�%���9.�#� �)-%�� 0 "**�$!���9.�#� � ���'���� �)�������"# ���*� 
 � ��* ��� �/
*"*����!�# 1�)�!*�)� ,)�*�%���9.�# ���"���'�"# *"�!� � �+�"$9*�" �)"�*)���*��
�""*��*�*�-�* ���'���� !"$���"%" &!���'�� �)� !"*")" :��*)  ��� ���*� 
 "���
���*
"!)-'�"�*( �� �$"�!"�*�� ,)� �) *�!"# *)��!*")�� �)������ �� )��� C� 2+)�� �)� "#
θ̇1 = 0 �� �$"�!"�*� < θ1 � V‖ = ��"+)�'�� �� )��� �+ �-�!*�)�"# $����#� ;""*��*�*����"
��� ���"���'�
� *"�!� � &*�1 ��)� ���
1 $�'�* �� ��)�������� 7��"�
1 *)��!*")�# �
&*�1 !)��
1�

� *� �!"���#$ %&�'�� �! ��!+!��#,� &!"���#,� '���,��

��!$9��� �� -)������� <���C= ψ � �" ".(9 ��*�%)�$"� ω1 � ω2 � �
��8� -)�������
���'���� !"$���"%" &!���'� � ��)� ���
1 θ1 � θ2 �

θ̈1 = sin(θ1) cos(θ1) sin(θ1−θ2)θ̇1+sin(θ2) cos(θ2) sin(θ1−θ2)θ̇2−cos(θ1−θ2)(sin2(θ1)−sin2(θ2))(θ̇1+θ̇2)

sin(θ1−θ2)(sin2(θ1)+sin2(θ2)+A sin2(θ1−θ2))

(
Ω − θ̇1+θ̇2

2

)
,

θ̈2 = θ̈1.

<5��=

��*�%)�$
 ���*� 
 �)� &*" �)� -* ���A

E = sin2(θ1)+sin2(θ2)+A sin2(θ1−θ2)
sin2(θ1−θ2)

(
Ω − θ̇1−θ̇2

2

)2
,

(θ̇1 + θ̇2) = ω,
<5��=
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� �
�� �

���� �� ��������� �
�����
�� � 	�
������� (θ1, θ̇1) ���
�����
�� �������� ����
� ��

 ����
���� ���	����
�
� E = 1, A = 2, ω1 = 0.8 �

���� �� ��������� �
�����
�� � 	�
������� (θ1, θ̇1) ���
�����
�� �������� ����
� ��

 ����
���� ���	����
�
� E = 2.3, A = 2, ω1 = 0.8 �

%�� ������
 "+"��������

ω = ω1−ω2
2 ,

Ω = ω1+ω2
2 .

<5�5=

;��$�� �� ��- ��)� ���
1

γ1 = θ1+θ2
2 ,

γ2 = θ1−θ2
2 .

<5�C=

� �"�
1 ��)� ���
1 -)������� � ��*�%)�$
 ���'���� �)� -* ���

γ̈1 =
[

sin(γ1+γ2) cos(γ1+γ2) sin(2γ2)(γ̇1+γ̇2)+sin(γ1−γ2) cos(γ1−γ2) sin(2γ2)(γ̇1−γ̇2)
sin(2γ2)(sin2(γ1+γ2)+sin2(γ1−γ2)+A sin2(2γ2))

−
cos(2γ2)(sin2(γ1+γ2)−sin2(γ1−γ2))γ̇1

sin(2γ2)(sin2(γ1+γ2)+sin2(γ1−γ2)+A sin2(2γ2))

]
(Ω − γ̇1),

γ̈2 = 0,

<5��=

E = sin2(γ1+γ2)+sin2(γ1−γ2)+A sin2(2γ2)

sin2(2γ2)
(Ω − γ̇1)2,

γ̇2 = ω.
<5�D=

�
)���� γ̇1 �� ��*�%)�$� &��)%��� �"$-�� -)������� �"��)1�"�*�� �� !"*")"# $�'�* ���
*)��!*")�� ���*� 
 � "����!"�
 � &��)%�� �� �� )��� �� �)���*��$��� ��"&��)%�*����!��
�"��)1�"�*( � ��)� ���
1 < γ1 � γ2 � γ̇1 =�



���� �!� !"$���"%" &!���'� 
5

�������� �		
� �
�� �

B�!'� !�! � � �)��
�-.� �$-���� ������ �"��)1�"�*( ��$��*�� ��"��"�����"# � *"�!�1
θ1 = πn, θ2 = πk, n, k ∈ Z � �$� ��!$9����� &*"# ��"��"�����"�*� ��"�� �"��"$(�-� ��
��)�1"�" ! V‖ � � &*" �$-��� �
)�'���� �$� V‖ �)� �* ���A

V‖ =
(Ω − γ̇1)
sin(2γ2)

. <5��=

��"&��)%�*����!�� �"��)1�"�*( � ��)� ���
1 < γ1 � γ2 � V‖ = �)���*��$���� �� )��� �+�

���� �� ������
���� �
��� 	���
���
�! � 	�
�������" �� (θ1, θ̇1) � �� (θ1, V‖) � �
� E = 1, A = 2, Ω = 0.8 �

�� )��� D �)���*��$�� 7��"�
# �")*)�* ���*� 
 <5��= �)� 7�!��)"����" �������� ��/
*�%)�$� &��)%��� 2* �*� � �*" �� 7��"�" �")*)�*� "*�-*�*�-9* ���"���'�
� *"�!�� G*"
������" � *� � �*" � "+.� �$-��� γ̇2 = ω �= 0 � �)� &*" 7��"�
� *)��!*")�� �"�*�����"
�� �*�9* ��9 7��"�-9 �$"�!"�*(�

���� 	� ������� �
�����
�� � 	�
������� (γ1, γ2) � �
� E = 2.3, A = 2, ω1 = 0.8, ω2 = 0.3 �

�� )��� � �)���*��$�� )��-$(*�* ���$���"%" )����*� *)��!*")�� ���'���� :��*)�  ���
!"$���"%" &!���'� �" ��"+"��
 � !"$���
 � ��)� �� �$� ��-1 )��$���
1 ����$(�
1 -�$"��#�
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 ����
���� ���	��� �� E = 1, A = 2, ω1 = 0.8, ω2 = 0.3 �
�� E = 1, A = 2, ω1 = 0.8, ω2 = −0.3 �

;,�;2� @�B�3�B�3H

�� ��)*
�9! ����� @"+�� @� ?� ��!�*��� ���� ���� �!� � -�*"#���"�*( ���'���� !"$���
1
*)����")*�
1  �8��� E �����A B�1��!�� �
>�� E ��5 ��

�� @"+�� @� ?� ��%"$"�" �
�  "��$� !"$���
1 &!���'�#� E �����A ��-����  
�$(� �
>D� E
�5	 ��

5� 3"!�) �� ��-�*"#���"�*( �  �1���!�� E��A����*�$(�*�" ��"�*)���"# $�*�)�*-)
� �
�
� E
�>� ��

C� ��)!��� ��,� B�")�*����!��  �1���!�� E �"�!��/�'���!�A 3�%-$�)��� � 1�"*����!�� ��/
�� �!�� �		�� E �
� ��

�� 3"���+$�* ?��� � ���� �!� ��%"$"�" �
1  "��$�# !"$���
1 &!���'�# II ���*��!
�� -)*�!"%" -����)��*�*�� ��*� �*�!�� ��1���!�� �" �(9*�)�
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